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4 1.  
      
     

3 2.  
     
     

1 3.
 

        

4 4. 5R  
 (Right place)   (Right price) 
 (Right quality)   (Right method) 

2 5.  
 ASTM  ACI   CNS  ISO 

1 6.  
      
     

3 7.  
 2.25  3.0  3.15  3.4 

1 8.  
 4  16  100  200 

4 9.  
     
     

3 10.   
        

1 11. 0.4 200   
 80  120  300  500 

2 12. C3S   
       
     

3 13.  
 1 1 1    1 1 1  
 1 1 1    1 1 1  

2 14. #7 CNS  
 D19  D22  D25  D29 

2 15. N  
     
     

4 16.  
      
      

3 17.  
     
     

4 18.
 

     
     

1 19.
  

      
     

2 20.   
      
     

1 21.   
     
     

3 22.
 

     
     

2 23. X
 

 0.1%  0.2%  1%  2% 

4 24.  
 C  G  M  H 

3 25.
 

     
     

4 26.
 

 1/2  1/3  1/4  1/5 

3 27.   
       
     

1 28.  
     
     

3 29. 90  
 6  9  12  15 

2 30.  
 3%  4%  5%  6% 

1 31.  
 150/1000000 
 130/1000000 
 25% 14 5%  
  

2 32. CNS  
 1 cm  10 cm  1 m  10 m 

4 33.
 

 16 mm  25 mm  29 mm  35 mm 

4 34. 30 m A B 300.00 m 29.98 
m  
 +0.02 m  -0.02 m  +0.2 m  -0.2 m 

2 35.  
     
     

1 36. 145


 -1


 
 213


  214


  215


  216


  

3 37.  
 1    1   
 1000    1000  

3 38. 2 mm+2 ppm D D 2
 

 2.4 mm   4 mm  
 6 mm   4.2 mm 
 



1 39. L  
 L sin    L cos   
 L tan    L csc  

2 40.  
      
     

4 41. GPS  
     
     

1 42.  
 Express Way   Free Way 
 Divided Way   Fast Way 

4 43.  
     
     

2 44. 2 kg 15
25 28.5 kg  

 1667 kg/m
3  

 1767 kg/m
3  

 1900 kg/m
3  

 2033 kg/m
3
 

1 45.  
 1%  3%  5%  7% 

4 46.  
     
     

2 47.
 

     
     

1 48.
 

      
     

4 49. 30" 50m 1.544 m 2
 

 1.530 m   1.537 m  
 1.551 m   1.559 m 

2 50.  
      
     

1 51.  
     
     

4 52. (5M)  
 (Method)   (Material) 
 (Manpower)   (Model) 

3 53. (5R)  
     
     

4 54.  
     
     

2 55.
 

      
 S     

3 56.  
 R.C.   S.R.C.  
 P.C.   S.C. 

2 57.  
      
     

4 58.  
        

3 59.   
       
     

4 60.   
     
     

3 61.  
      
     

3 62.   
      
     

1 63.   
     
     

4 64.   
      
     

4 65.   
      
     

1 66.   
      
     

4 67.   
     
     

2 68.   
      
     

3 69. HSC   
     
     

4 70.  
      
     

2 71. 15 cm   
 2   3   4   5  

2 72. 9 m 12 m   
 108   1200   1620   3240  

1 73.  
     
     

2 74. 145  
 0.15 cm  1.45 cm  7.25 cm  14.5 cm 

3 75.   
     
     

2 76. (Fiber Saturated Point, F.S.P)  
 10%  30%  50%  70% 

1 77. (910 )  
      
     

3 78. 100 m +2m  
 0.02%  1%  2%  4% 

1 79. A B 43.754m A 1.45m B 1.50m 
60 00’ A B  

 21.827 m   21.877 m  
 21.927 m   24.777 m 

1 80.   
      
     


